

Pay Estimate Created Date: September 15, 2021

Progress Estimat	te Number	Contract ID Prime Contractor	201016-H02 Magruder Paving,		Period Start Period End			Original Contract Amount Net Change Order Amount Current Contract Amount	\$0.00			
Approval Date									By User			
September 15, 2021			Generated and A	pproved (a	nd should be	considered	l Draft) at	the Project Office Level by	mitcha3			
September 15, 2021		Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by										
September 17, 2021	nber 17, Reviewed and Approved at the Central Office Controllers Office Level by											
Original Comple	etion Date	Current Con	pletion Date	Actua	al Completio	n Date	%	of Current Contract Amount	t Complete			
October 1,	2022	October	1, 2022			0.60%						
	Contra	ct Informational Da	tes		1							
Date Description	n Origina	al Completion Date	Current Complet	tion Date	No Milesto	nes Exist fo	r Contract					
Acceptance Date												
Awarded Date	Novem	ber 5, 2020	November 5, 202	0								
Letting Date	Octobe	r 16, 2020	October 16, 2020									
Notice to Proceed D	ate January	/ 4, 2021	January 4, 2021									
Work Began Date												

Contract Total Pay For Estimate No. 3 This Estimate Previous To Date 201016-H02 Total Posted Items Pay **\$19,003.75** \$22,270.80 \$41,274.55 \$117,166.00 Gross Item Adjustments <mark>\$0.00</mark> \$0.00 \$117,166.00 Incentive \$0.00 \$0.00 \$0.00 Disincentive \$0.00 \$0.00 Liquidated Damage \$0.00 \$0.00 \$0.00 Other Contract Adjustments \$0.00 \$0.00 \$0.00 \$139,436.80 \$158,440.55 \$19,003.75

Contract Total Payable This Estimate:

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount		
J9P3233	0140	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	SQYD	\$325.000	48.67	\$15,817.75		
	0170	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	LF	\$8.000	262	\$2,096.00		
	0180	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	EA	\$10.000	109	\$1,090.00		
Project J9	<mark>P3233 - T</mark> o	tal					\$19,003.75		
Overall - Total									

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3233	0140	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material			-68.67	\$325.00	(\$22,317.75)
	0140	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user mitcha3 overridding Payment Estimate Exception 2 on the current Payment Estimate.	68.67	\$325.00	\$22,317.75



Pay Estimate Created Date: September 15, 2021

Progre		imate Number 3	Contract ID Prime Contra	201016 actor Magrud		C Pay Period End September 15, 2021 Net C			
Project Number	Line No.	Item Des	cription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3233	0150	SUBGRADE C (6 IN. DEPTH)		Material			-6.67	\$20.00	(\$133.40)
	0150	SUBGRADE C (6 IN. DEPTH)		Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user mitcha3 overridding Payment Estimate Exception 4 on the current Payment Estimate.	6.67	\$20.00	\$133.40
	0160		AGGREGATE (4 IN. THICK) ENT REPAIR)	Material			-6.67	\$20.00	(\$133.40)
	0160		AGGREGATE (4 IN. THICK) ENT REPAIR)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user mitcha3 overridding Payment Estimate Exception 5 on the current Payment Estimate.	6.67	\$20.00	\$133.40
	0180			Material			-155	\$10.00	(\$1,550.00)
	0180			Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user mitcha3 overridding Payment Estimate Exception 6 on the current Payment Estimate.	155	\$10.00	\$1,550.00
Total									\$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Informat	on				
Project Number	Federal Proj. Number	Description	Route	County	Location of Work						
J9P3233	FAF 61-5(30)	Resurface	61	STE GENEVIEVE	from Rte. OO to north o	of Rte. 177					
Totals by .	Job Numb	ers									
J9P3233		ed Item Pay s Item Adjustn		s Item Pay	This Estimate \$19,003.75 \$0.00 \$19,003.75	Previous \$22,270.80 \$117,166.00 \$139,436.80	To Date \$41,274.55 \$117,166.00 \$158,440.55				
	Liqu	ntive icentive idated Damage r Contract Adj		5	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00				



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9P3233, Item 6131010, Project Item Line Number 0140, Material Set 613101096, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	No Remark was entered by Engineer	mitcha3	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3233, Item 6131010, Project Item Line Number 0140, Material Set 613101096, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	mitcha3	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3233, Item 6131010, Project Item Line Number 0140, Material Set 613101096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	No Remark was entered by Engineer	mitcha3	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3233, Item 6131012, Project Item Line Number 0150, Material Set 613101296, Material 0200XXCS - Compacted Soil for Subgrade orEmbankment, Acceptance Action Generic 0200XXCS is insufficient.	No Remark was entered by Engineer	mitcha3	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3233, Item 6131013, Project Item Line Number 0160, Material Set 613101396, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	No Remark was entered by Engineer	mitcha3	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3233, Item 6131015, Project Item Line Number 0180, Material Set 613101596, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	No Remark was entered by Engineer	mitcha3	Overridden

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ote: Posted Q	uantities	and Valu	es are b	based on R	eport Generated date and can differ from the posted amo		time the	Estimate wa		ated.		
Contract Im.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
01016-H02	J9P3233	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$22,000.00	\$0.00
		0001	0020	2159903	MISC.MODIFIED SHAPING SLOPE CLASS III	5,413.00	0.00	5,413.00	LF	0.00	\$12.00	\$0.00
		0001	0030	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	1,987.20	0.00	1,987.20	TONS	0.00	\$56.42	\$0.00
		0001	0040	3105002	GRAVEL (A) OR CRUSHED STONE (B)	1,395.00	0.00	1,395.00	TONS	0.00	\$56.42	\$0.00
		0001	0050	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	35,824.50	0.00	35,824.50	TONS	0.00	\$42.43	\$0.00
		0001	0060	4019901	MISC.INFRARED SCANNING	1.00	0.00	1.00	LS	0.00	\$20,000.00	\$0.00
		0001	0070	4019901	MISC.INTELLIGENT COMPACTION	1.00	0.00	1.00	LS	0.00	\$98,890.00	\$0.00
		0001	0080	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	73,507.20	0.00	73,507.20	TONS	0.00	\$51.02	\$0.00
		0001	0090	4071005	TACK COAT	89,173.00	0.00	89,173.00	GAL	0.00	\$1.80	\$0.00
		0001	0100	6122012	IMPACT ATTENUATOR 55 MPH (SAND BARREL ARRAY)	2.00	0.00	2.00	EA	0.00	\$2,975.00	\$0.0
		0001	0110	6122020	REPLACEMENT SAND BARREL	3.00	0.00	3.00	EA	0.00	\$295.00	\$0.0
		0001	0120	6122030	IMPACT ATTENUATOR (RELOCATION)	2.00	0.00	2.00	EA	0.00	\$1,350.00	\$0.0
		0001	0130	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	3.00	0.00	3.00	EA	0.00	\$400.00	\$0.00
		0001	0140	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	125.30	0.00	125.30	SQYD	68.67	\$325.00	\$22,317.7
		0001	0150	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	13.00	0.00	13.00	SQYD	6.67	\$20.00	\$133.4
	00			6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	13.00	0.00	13.00	SQYD	6.67	\$20.00	\$133.4
		0001	0170	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	597.00	0.00	597.00	LF	364.00	\$8.00	\$2,912.0
		0001	0180	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	200.00	0.00	200.00	EA	155.00	\$10.00	\$1,550.0
	0001 019			6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	98.80	0.00	98.80	TONS	0.00	\$168.12	\$0.0
		0001	0200	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	350.30	0.00	350.30	SQYD	0.00	\$59.04	\$0.0
		0001	0210	6161005	CONSTRUCTION SIGNS	3,632.00	0.00	3,632.00	SQFT	1,216.00	\$6.50	\$7,904.0
		0001	0220	6161009	FLAG ASSEMBLY	12.00	0.00	12.00	EA	12.00	\$20.00	\$240.0
		0001	0230	6161025	CHANNELIZER (TRIM LINE)	160.00	0.00	160.00	EA	6.00	\$14.00	\$84.0
		0001	0240	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,000.00	\$6,000.0
		0001	0250	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	0.00	\$2,000.00	\$0.0
		0001	0260	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$153,730.89	\$0.0
		0001	0270	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	74.00	0.00	74.00	LF	0.00	\$19.00	\$0.0
		0001	0280	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	293.00	0.00	293.00	LF	0.00	\$20.00	\$0.0
		0001	0290	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	54.00	0.00	54.00	EA	0.00	\$195.00	\$0.0
		0001	0300	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	630,633.00	0.00	630,633.00	LF	0.00	\$0.08	\$0.0
		0001	0310	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	413,228.00	0.00	413,228.00	LF	0.00	\$0.09	\$0.0
		0001	0320	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$0.01	\$0.0
		0001	0330	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	93,049.00	0.00	93,049.00	SQYD	0.00	\$1.16	\$0.0
		0001	0340	6221003	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (GREATER THAN 3 IN. THICK)	26,619.40	0.00	26,619.40	SQYD	0.00	\$2.06	\$0.0
		0001	0350	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	39,062.80	0.00	39,062.80	SQYD	0.00	\$1.37	\$0.0
		0001	0360	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	5,141.77	0.00	5,141.77	STA	0.00	\$22.31	\$0.0
		0001	0370	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	2,570.87	0.00	2,570.87	STA	0.00	\$22.31	\$0.0
		0010	0380	6061060	MGS GUARDRAIL	2,450.00	0.00	2,450.00	LF	0.00	\$21.25	\$0.0
		0010	0390	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	24.00	0.00	24.00	EA	0.00	\$2,700.00	\$0.0
		0010	0400	6061070	MGS VERTICAL CONCRETE BARRIER TRANSITION	3.00	0.00	3.00	EA	0.00	\$3,000.00	\$0.0
		0010	0410	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	26.00	0.00	26.00	EA	0.00	\$2,700.00	\$0.0
		0010	0420	6063016	TYPE B CRASHWORTHY END TERMINAL	1.00	0.00	1.00	EA	0.00	\$15,900.00	\$0.00
		0030	0430	9028500	CABLE, LOOP DETECTOR, IN DUCT	1,350.00	0.00	1,350.00	LF	0.00	\$5.50	\$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	ltem Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
201016-H02	J9P3233	0070	0440	7039902	MISC.End Post Modification	4.00	0.00	4.00	EA	0.00	\$4,850.00	\$0.00
	Project J9P3233 - Total Value Posted to Date as of Report Generated Date									\$41,274.55		
201016-H02 Overall - Total Value Posted to Date as of Report Generated Date									\$41,274.55			



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line umber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location From Station Log Mile	n/ Distan		Offset/ Distance	Comments
0140	6131010	FURN & PLACE CONC MATL FOR FULL DEPTH	9/7/21	9/14/21	13.33	SQYD	215.30	17	215.390		
			9/8/21	9/14/21	6.67	SQYD	216.55	i2 RT	216.552	RT	
			9/9/21	9/14/21	6.67	SQYD	216.55	i2 LT	216.552	Lt	
		9/10/21	9/14/21	6.67	SQYD	217.55	i5 RT	217.555	RT		
			9/14/21	9/14/21	6.67	SQYD	217.55	5 LT	217.555	Lt	
				9/15/21	8.66	SQYD	260.99	2 CL	260.992	13 RT	
0170	0170 6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR	9/7/21	9/14/21	76.00	LF	215.30	17	215.390		
			9/8/21	9/14/21	38.00	LF	216.55	i2 RT	216.552	RT	
			9/9/21	9/14/21	38.00	LF	216.55	i2 LT	216.552	Lt	
			9/10/21	9/14/21	38.00	LF	217.55	i5 RT	217.555	RT	
			9/14/21	9/14/21	34.00	LF	217.55	i5	217.555		
			9/15/21	9/15/21	38.00	LF	260.99	2 CL	260.992	13 RT	
0180	6131015	DOWEL BAR (DRILLING, FURNISHING AND INST	9/7/21	9/14/21	30.00	EA	215.30	17	215.390		
			9/8/21	9/14/21	15.00	EA	216.55	i2 RT	216.552	RT	
			9/9/21	9/14/21	16.00	EA	216.55	i2 LT	216.552	LT	
			9/10/21	9/14/21	16.00	EA	217.55	i5 RT	217.555	RT	
			9/14/21	9/14/21	16.00	EA	217.55	i5	217.555		
			9/15/21	9/15/21	16.00	EA	260.99	2 CL	260.992	13 RT	

The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Contract ID:190621-F01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks					
J9P3233	0140	FURN & PLACE CONC MATL FOR FULL DEPTH	Material		2	Sep 1, 2021	SYSTEM	\$6,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user mitcha3 overridding Payment Estimate Exception 1 on the current Payment Estimate.					
					2	Sep 1, 2021	SYSTEM	(\$6,500.00)						
					3	Sep 15, 2021	SYSTEM	\$22,317.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user mitcha3 overridding Payment Estimate Exception 2 on the current Payment Estimate.					
					3	Sep 15, 2021	SYSTEM	(\$22,317.75)						
				- Total	1			\$0.00						
			Material - To	tal				\$0.00						
	0140 -	Total						\$0.00						
	0150	SUBGRADE COMPACTION (6 IN. DEPTH)	Material		2	Sep 1, 2021	SYSTEM	\$133.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user mitcha3 overridding Payment Estimate Exception 4 on the current Payment Estimate.					
		(PAVEM			2	Sep 1, 2021	SYSTEM	(\$133.40)						
					3	Sep 15, 2021	SYSTEM	\$133.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user mitcha3 overridding Payment Estimate Exception 4 on the current Payment Estimate.					
					3	Sep 15, 2021	SYSTEM	(\$133.40)						
				- Total				\$0.00						
			Material - To	tal				\$0.00						
	0150 -	Total						\$0.00						
	0160	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. TH	Material		2	Sep 1, 2021	SYSTEM	\$133.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user mitcha3 overridding Payment Estimate Exception 5 on the current Payment Estimate.					
					2	Sep 1, 2021	SYSTEM	(\$133.40)						
										3	Sep 15, 2021	SYSTEM	\$133.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user mitcha3 overridding Payment Estimate Exception 5 on the current Payment Estimate.
						3	Sep 15, 2021	SYSTEM	(\$133.40)					
				- Total				\$0.00						
			Material - To	Material - Total				\$0.00						
	0160 -	Total						\$0.00						
	0180	DOWEL BAR (DRILLING, FURNISHING AND INST	Material		2	Sep 1, 2021	SYSTEM	\$460.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user mitcha3 overridding Payment Estimate Exception 6 on the current Payment Estimate.					
		11131			2	Sep 1, 2021	SYSTEM	(\$460.00)						
					3	Sep 15, 2021	SYSTEM	\$1,550.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user mitcha3 overridding Payment Estimate Exception 6 on the current Payment Estimate.					
					3	Sep 15, 2021	SYSTEM	(\$1,550.00)						
				- Total				\$0.00						
			Material - To	tal				\$0.00						
	0180 -	Total						\$0.00						
	0180 - ⁻ 0210	CONSTRUCTION SIGNS	Material		2	Sep 2, 2021	SYSTEM	\$7,904.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user mitcha3 overridding Payment Estimate Exception 7 on the current Payment Estimate.					
					2	Sep 1, 2021	SYSTEM	(\$7,904.00)						
				- Total				\$0.00						
			Material - To	tal				\$0.00						
	0210 -	Total						\$0.00						
	0220	FLAG ASSEMBLY	Material		2	Sep 2, 2021	SYSTEM	\$240.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user mitcha3 overridding Payment					



Line Item Adjustments by Estimate

Sep 21, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9P3233	0220	FLAG ASSEMBLY	Material						Estimate Exception 8 on the current Payment Estimate.
					2	Sep 1, 2021	SYSTEM	(\$240.00)	
				- Total		2021		\$0.00	
			Material - Tot	al				\$0.00	
	0220 -	Total						\$0.00	
	0230	CHANNELIZER (TRIM LINE)	Material		2	Sep 2, 2021	SYSTEM	\$84.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user mitcha3 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					2	Sep 1, 2021	SYSTEM	(\$84.00)	
				- Total				\$0.00	
			Material - Tot	al				\$0.00	
	0230 -	Total						\$0.00	
	0240	CMS W/O COMMUNICATION INTERFACE,	Material		2	Sep 2, 2021	SYSTEM	\$6,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user mitcha3 overridding Payment Estimate Exception 10 on the current Payment Estimate.
		CONT F/			2	Sep 1, 2021	SYSTEM	(\$6,000.00)	
				- Total				\$0.00	
			Material - Tot	al				\$0.00	
	0240 -	Total						\$0.00	
	0380	MGS GUARDRAIL	Construction Stockpile STMI		1	Mar 15, 2021	SYSTEM	\$29,645.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			0 TWI	- Total				\$29,645.00	
			Construction	Stockpile ST	MI - Total			\$29,645.00	
	0380 -	Total						\$29,645.00	
	0390	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile STMI		1	Mar 15, 2021	SYSTEM	\$39,768.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		· · · · · · · · · · · · · · · · · · ·		- Total				\$39,768.00	
			Construction	Stockpile ST	MI - Total			\$39,768.00	
	0390 -		0 1 1			14 45	OVOTEN	\$39,768.00	
	0400	MGS VERTICAL CONCRETE BARRIER	Construction Stockpile STMI		1	Mar 15, 2021	SYSTEM	\$4,389.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		TRANSITION	Construction	- Total	MI Totol			\$4,389.00	
	0400 -	Total	construction	Stockpile ST	wii - Total			\$4,389.00 \$4,389.00	
	0400 -	TYPE A CRASHWORTHY			1	Mar 15, 2021	SYSTEM	\$4,389.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		END TERMINAL (MASH)	STMI	- Total				\$40,456.00	
			Construction	Stockpile ST	MI - <u>Tota</u>			\$40,456.00	
	0410 -	Total						\$40,456.00	
	0420	TYPE B CRASHWORTHY	Construction Stockpile		1	Mar 15, 2021	SYSTEM	\$2,908.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		END TERMINAL	STMI	- Total				\$2,908.00	
			Construction	Stockpile ST	MI - Total			\$2,908.00	
	0420 -	Total						\$2,908.00	
J9P3233 -	Total							\$117,166.00	
Overall -	Total							\$117,166.00	